[ normalized x? probability |

0.07

0.06

Entries
Mean 1.109

0.7579 0.05
Entries 69470

Mean 111
Std Dev. 0.7588

0.04

0.03

0.02

0.0

Ratio

|.. |

0_95 ' | ||\ HII Al

0 2 4 6 8 10 12 14 16 18 20
XZ
m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

wmm—= DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

>

< X2/ ndf >
-
©
TT

=
2}
T

=
i
T

< X2/ ndf >
< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

1 -1
AR(track, jetg)



	Contents
	Page 1


